5N3a - Determine the value of each digit in numbers up to 1 000 000

927800

What is the value of the underlined digit?

2 o 27800 ) 20000 ) 2000

D + 80,000 + 5,000 = 185,000

What is the missing humber?

297800

What is the value of the underlined digit?

20000 DI - 200000 ) 297800

600,000 + C] + 5,000 = 615,000

What is the missing number?

A number has

one hundred
two ten thousands

seven hundred thousands

What is the number?

721,000 702,100 720,100 72,100

813,000

A number has

one thousand
three ten thousands

eight hundred thousands

What is the number?

831,000 318,000

138,000




